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Classification Questions for Bank Exams (CGL Tier 1 & 

SSC 10+2) 

Classification Quiz 8 

Directions: In this type questions, usually four groups of letters are given. Three of 

them are similar to each other in some manner while one is different and this is to be 

chosen by the candidate as the answer 

1. Select the one which is different from the other three responses. 

A. FIJL     B. RUVX      C. DGHJ      D. NPQS 

2. Select the one which is different from the other three responses. 

A. BADC      B. XWZY      C. VUST      D. NMPO 

3. Select the one which is different from the other three responses. 

A. AIUE      B. PIRE      C. VALT      D. TORE 

4. Select the one which is different from the other three responses. 

A. DWHS      B. BYDW      C. CWFS      D. EVJQ 

5. Select the one which is different from the other three responses. 

A. KNM      B. JMK      C. CFD      D. GJH 

6. Select the one which is different from the other three responses. 

A. JKL      B. FGI      C. MNR      D. TUW 

7. Select the one which is different from the other three responses. 

A. DHLP      B. TXBF      C. JNRV      D. YBEH 

8. Select the one which is different from the other three responses. 

A. IAME      B. VNZR      C. KCOG      D. FKOR 



 

 

9. Select the one which is different from the other three responses. 

A. URT      B. GDF      C. GDF      D. NKM 

10. Find the odd one out from the given alternatives: 

A. NOP      B. KLM      C. UVW      D. HIJ   

  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 
D C A C A A D D C B 

 

Explanations: 

1. 

Except the fourth option, in all other options the difference between letters are 

same. 

1st option: F — (+3) → I — (+1) →  J — (+2) →  L 

2nd option: R — (+3) → U — (+1) →  V — (+2) →  X 

3rd option: D — (+3) → G — (+1) →  H — (+2) →  J 

But, 

4th option: N — (+2) → P — (+1) →  Q — (+2) →  S 

Hence, option D is correct. 

 

2. 
Except the third option, in all other options the difference between letters are same. 

1st option: B — (–1) → A — (+3) →  D — (–1) →  C 

2nd option: X — (–1) → W — (+3) →  Z — (–1) →  Y 

4th option: N — (–1) → M — (+3) →  P — (–1) →  O 

But, 

3rd option: V — (–1) → U — (–2) →  S — (+1) →  T 

Hence, option C is correct. 

 

3. 
In letter group AIUE, all letters are Vowels. 

Hence, option A is correct. 

 

 

 



 

 

4. 
D ↔ W; H ↔ S 

Pairs of opposite letters 

B ↔ Y; D ↔ W 

E ↔ V; J ↔ Q 

The opposite letter of C is X and that of F is U. 

Hence, option C is correct. 

 

5. 

Except the first option, in all other options the difference between letters are same. 

2nd option: J — (+3) →  M — (–2) →  K 

3rd option: C — (+3) →  F — (–2) →  D 

4th option: G — (+3) →  J — ((–2) →  H 

But, 

1st option: K — (+3) →  N — (–1) →  M 

Hence, option A is correct. 

 

6. 
Except the first option, in all other options the difference between letters are same. 

2nd option: F — (+1) → G — (+2) → I 

3rdoption: M — (+1) → N — (+2) →  R 

4th option: T — (+1) → U — (+2) → W 

But, 

1st option: J — (+1) → K — (+1) → L 

Hence, option A is correct. 

 

7. 
Except the fourth option, in all other options the difference between letters are 

same. 

1st option: D — (+4) → H — (+4) →  L — (+4) →  P 

2nd option:  T — (+4) → X — (+4) →  B — (+4) →  F 

3rd option: J — (+4) → N — (+4) →  R — (+4) →  V 

But, 



 

 

4th option: Y — (+3) → B — (+3) →  E — (+3) →  H 

Hence, option D is correct. 

 

8. 
Except the fourth option, in all other options the difference between letters are 

same. 

1st option: I — (–8) → A — (+12) → M — (–8) → E 

2nd option: V — (–8) → N — (+12) → Z — (–8) → R 

3rd option: K — (–8) → C — (+12) → O — (–8) →  G 

But,  

4th option: F — (+5) → K — (+4) → O — (+3) → R 

Hence, option D is correct. 

 

9. 
Except the fourth option, in all other options the difference between letters are 

same. 

1st option: U — (–3) → R — (+2) → T 

2nd option: G — (–3) → D — (+2) → F 

3rdoption: P — (–3) → L — (+2) →  N 

But, 

4th option: N — (–4) → K — (+2) → M 

Hence, option C is correct. 

 

10. 
Except ‘KLM’ all other contains vowels. 

Hence, option B is correct. 
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